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g FLIAX 18 Zat
oRlr S8 2eiERY CEERED
SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
deLs 1,135,345 1,167,278 A31,933
FOIXEX] D18t 28t 499,294 499,336 N2
SY ey =y 499,294 499,336 N42
AL & AIEEH FA2te 302,3%4 330,876 N37,522
201 €e+=gh| 242,354 199,876 42,478
01 AtR2t2|Hl 98,954 9,876 2,078
OFA2te| 2 96,854,000& 14! 96,854
OFAL SLIFHIAIAE S22l
1,050,000 %201 2 2,100
02 3324l 143,400 103,000 40,400
0=s2= & HA 2,500,000 122 30,000
OHZH| 700,000 <122 8,400
OAIE EHI= X 15,000,000 %141 15,000
OXtg KXI2A2IHI(7CH)
90,000,000 14 90,000
401 AIZHIZSCHYI 60,000 140,000 /80,000
01 Al&H] 60,000 140,000 80,000
Odds FAEHIAY
50,000,000 14 50,000
OSASEA FAL+ AlLZH|
10,000,000 14 10,000
SHAHAL X2 20,000 19,000 1,000
201 et | 20,000 19,000 1,000
03 A2 I 20,000 19,000 1,000
oystl stitd &I HADHZ
20,000,000 14 20,000
oy s 2 176,940 140,460 36,480
301 LEIEES 176,940 140,460 36,480
07 8801 - tdgs=2as 174,060 140,460 33,600
ooets gs2d= 174,060
oolg Jlgse
400,000 x24 =122 115,200
o0l &0= 400,000& 24 Z =23 19,200
OO0I=Blo| B4
20,0002 x248 » 128 =232] 11,520
ogtd =g 50,0002 %130 *13] 6,500
OlUES=Fdl:] 30,0003 x4« 122 8,640
Oetd S| 100,000 *130& 13l 13,000
4Bt 2= 2,880 0 2,880
OMOts FU=IE @A+
20,0002 *24E 62 2,880
2SS A3 290,000 342,000 A52,000
FRI=BAY =& 290,000 342,000 252,000
a2 UFHZAY F& 290,000 342,000 A52,000
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Bel: FRI=IAMY =2 (CHe:®S)
SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
401 AlZ2HI R0 290,000 342,000 252,000
01 Al&H] 290,000 342,000 52,000
O¢Eel(289) === EXIZAt
25,000,000 14! 25,000
OXEE2|(189-1) St==2tH EXIZA
20,000,000 * 141 20,000
©==el(173-1) =2 10l &EXISAt
20,000,000 * 14| 20,000
OAtHEEI(172) =224 & ti+2 EXISA
30,000,000& *14] 30,000
OoZ=el(556) OrSet ZEHIAL
30,000,000 14 30,000
oZ=el(264-13) DSt 25 & HLF3A
20,000,000 « 14 20,000
O0t2I(400-1) S+2 WH SA
20,000,000& *14] 20,000
©O0t2l(60) === & XIS At
25,000,000 14 25,000
ou=el(194) =2 AXIZAt
20,000,000& *14] 20,000
O AXC 50,000,000 14! 50,000
Ozlg ALY HH A=
20,000,000 * 14! 20,000
OFA=EH =AU £ OS2 =322 2
el 10,000,000& *14] 10,000
HY2HAH(LLS) 346,051 325,942 20,109
lARAY|(LAS) 242,505 227,020 15,485
oA A (L) 242,506 227,020 16,485
101 Q1244 242,505 227,020 15,485
01 2 105,811 90,326 15,485
CESEE RN
11,6022 x19& x40A 2+ 123 105,811
03 SRA(RIHA) 22 A2+ 136,694 136,694 0
Ot 0IaHE AlZI2IxE 136,694
OZV2R4Y
20,0002 +150%+22A1 2Hx 11+ 123 87,513
OfaR+Y
20,0003 +150%* 12A1 2t 112 % 123 47,734
OoRI2S4Y
20,0003 50%+2 & x 12 6 1,447
I=3(LLS) 103,546 98,922 4,624
l2gul(eges) 103,546 98,922 4,624
201 Let=dh| 49,146 47,022 2,124
01 At=2telH] 49,146 47,022 2,124
O 2HH|(SH HY) 49,146
Oggt=EH| 18,270,000& 14| 18,270
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Al

FEIXX Dl H5t
o el Ey R RS
SA - A - BRIEH) - ARAR - BaR e s2
d 714,921 708,190 6,731
FOIXEX] D18t 28t 288,867 255,308 33,559
SH ey 288,867 255,308 33,559
AL & AIEEH FA2te 127,647 126,608 1,039
201 Bt2ghl 122,647 121,608 1,039
01 Al 22| 49,147 48,108 1,039
oAzl fIE 48,427 00021%141 48,427
ORIl AIAE 2o
60,0003 10 A+ 1200 & 720
02 3524t 73,500 73,500 0
OAIEEHl |l 3,000,000& %14 3,000
(©ftak=d:] 5,000,000& *14| 5,000
03&2= & HA 30,000,000 *14] 30,000
Oxrgr sXl2teldi(el)
35,500,000& *14] 35,500
401 AlZ2HIL S OHE 5,000 5,000
01 AlZH] 5,000 5,000
OFMAIE RAIE+ 5,000,000& * 14| 5,000
HEPIHALIA 20,000 18,000 2,000
201 et AH| 20,000 18,000 2,000
03 A2 SHI 20,000 18,000 2,000
OMEMH2t &tL=2 =AM
5,000,000& *12] 5,000
ogolsntS sl 15,000,000& %12 15,000
olgrd o 2UHIIE s 24 141,220 110,700 30,520
301 LEtEAS 141,220 110,700 30,520
07 88 - 0% - tgs2a=3 141,220 110,700 30,520
ooty 2s24Hl 138,700
oolg JiEs 400,000 x20& 123 96,000
o0y &= 400,000 »20E *22] 16,000
Ogtd S| 100,000 66 *12] 6,600
ogtd =& 50,0002 66 12 3,300
O01g S| 30,0002 x208* 122 7,200
O01¥3le Ee+d
20,0002 *20E «242| 9,600
ORUE 22 4 =
20,000%21 & +62] 2,520
A &8l 250,000 280,000 230,000
l=RAY =2 250,000 280,000 230,000
72 MBI AMNY =& 250,000 280,000 A30,000
401 AlZ2HIZ R0 250,000 280,000 30,000
01 Al£H] 250,000 280,000 230,000
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Chef: FRI=RAY F& D
2 - 414
SA - B SU(SH) - HRAY - BES I e HIRE2
Oy &2l (65 1)sSZEESA
20,000,000& 14 20,000
O&&el(10) ==& X2 At
20,000,000 14 20,000
O=Eel(257) 2B I A
15,000,000 141 15,000
O3=+del(49) =2 Tefolg X
20,000,000 *14] 20,000
O=3t2l(87) =2 & X2 At
15,000,000 141 15,000
=3lel(2eE) NYLASEL3A
15,000,000 * 14| 15,000
OAME(276) DtS2tue 2ASAL
15,000,000 %141 15,000
O5del(128,129) =2 EXISA
15,000,000& *14] 15,000
OKNEeI(3B3-1)+=2 EXISAH
15,000,000 %14 15,000
O=2S & BB EXISA
15,000,000 %14y 15,000
Otfl=== &l & Zdl Xt
20,000,000& * 14| 20,000
QWA XMISA
25,000,000& =14 25,000
OFAMFH =X & OIS =322 &
cl 20,000,000 * 14| 20,000
oFse(ES12 %-5) =2 1dolg £X
SA 20,000,000 *14] 20,000
HYRHHHI(MH) 176,054 172,882 3,172
QIAZHHI(MS) 99,826 99,826 0
QIAZHHI(MS) 99,826 99,826 0
101 Q124 99,826 99,826 0
01 2= 66,556 66,55 0
CEEE RS
11,319% 14H*3BA| 2t 122 66,556
03 SRA(RIH) 22 A+ 33,270 33,270 0
O=td0Istd == F ¢
20,0903 *150%+23A| 2tx4 2+ 123 33,270
Jl2ZHI(MY) 76,228 73,056 3,172
Jl=2ZHI(MH) 76,228 73,056 3,172
201 Ler=3h| 34,068 33,3% 672
01 AFR2t2|H] 34,068 33,39% 672
OLB2HH(SHEHY) 34,068
O2g+g(d=3Yl)
60,0008 x1& 119 7,140
O=All| 6,048,000 * 141 6,048
ogxtz 7,920,000& * 14| 7,920
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H & 0l & A H Al A
0265EHE 20 LetelH Zes ~ e
A 2o
g3 FIAX 18 Zat
cRlr SH ey 29 CEEREED
SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
=H 784,230 761,69% 22,535
FOIXEX] D18t 28t 304,907 254,808 50,099
g9 derdly =29 304,907 254,808 50,099
AL & AIEEH FA2te 137,067 121,528 16,539
201 €e+=gh| 120,067 111,528 8,539
01 AtR2tc|H] 49,867 48,828 1,039
OEAEAB| S
48,427,000 x 14 48,427
OFAF SLIFHIAIAE S22l
60,000& =2 A% 123 1,440
02 S5l 70,200 62,700 7,500
0582 & HAl 27,500,000& 14! 27,500
ozt KXl (40h)
33.,500,000& 14! 33,500
OAIE &= 5,000,000& * 14| 5,000
O¢EHI 4,200,000 14| 4,200
401 AlE2HIZ R0 10,000 10,000
01 AlZH] 10,000 10,000
OFMTI|ISAF & BANE K2+
10,000,000& * 14! 10,000
405 KH&HF SHI 7,000 7,000
01 MMM ESF =S| 7,000 7,000
ORIANEA ARZI wH
5,000,000& *14| 5,000
O=RIXXINEH IFHHEHADI 7
2,000,000 %14 2,000
SHHHALAXA 15,000 14,000 1,000
201 e+ 15,000 14,000 1,000
03 WAL= EH| 15,000 14,000 1,000
OHIBIIS=A 15,000,000 %141 15,000
olgts & RUHIE 5 24 162,840 119,280 33,560
301 Bt2dS 162,840 119,280 33,560
07 88 -01% - tdgs2a3 150,080 119,280 30,800
oold+g 133,760
oJl=zs 400,000 x22&~12& 105,600
Od0t= 400,000 x22 & +23| 17,600
Ozl &4 20,0003 22 243| 10,560
(ClUES=1a1:] 30,0002 x22& 122 7,920
ogtg=+g 50,0002 *56E 12 2,800
ogtaSult 100,000 *56E %12 5,600
BIERd = 2,760 0 2,760
ORUH=E A =E
20,0002 *23E 62 2,760
EAH AL 3| 260,000 330,000 70,000
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Zol=gIAel X7

SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
FO=FA =& 260,000 330,000 270,000
272 QIR =T 210,000 330,000 A120,000
401 AlE2HISL 20| 210,000 330,000 120,000
01 Al&H] 210,000 330,000 120,000
O4nE 2RNE SA
20,000,000& * 14! 20,000
OAND DIAHUAAEE MAILH S
25,000,000% * 14 25,000
OFAFE =X % DS =IAL 2
cl 10,000,000& *14] 10,000
O&8el(218) OS2 ZEHIAL
20,000,000 * 14 20,000
OdL=el(20) OS2 & Hi+=2&4X
SAt 40,000,000 14 40,000
OZ3atel(4-1) 8= AXISA
40,000,000 14! 40,000
0szel(1-R) A= EXSA
25,000,000 14 25,000
OF2l(236-8) 52 ZHSA
15,000,000& 14! 15,000
ORARIZI(103-1) =2 SIHSA
15,000,000 %14y 15,000
SHHEZ HEAIE (R0 0l A) 50,000 0 50,000
401 AIEHIZ S CHEI 50,000 50,000
01 AlZH] 50,000 50,000
OsHEZ HEAE
50,000,000 141 50,000
HY2HIH(ELH) 219,323 176,887 42,436
oA (EAH) 137,183 104, 191 32,992
olA2AHH|(E=2H) 137,183 104,191 32,992
101 el 137,183 104,191 32,992
01 2= 83,535 66,556 16,979
(CESN = S
11,6022 #40A| 2t 128 % 158 83,535
03 SRA(RIIH) 222+ 53,648 37,635 16,013
o2 0I3H
29,8043 x150%+300A| 2++4H 53,648
Jl2B(=2e) 82,140 72,696 9,444
JlEgdl(Ed) 82,140 72,696 9,444
201 e+ | 39,980 33,036 6,944
01 AtR2t2|H] 34,980 33,036 1,944
OgL=gH| 34,980
Oge+=EH| 13,800,000 %14y 13,800
O2g+g(L=2tl)
7,140,000& * 14| 7,140
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ool J1=3gI(&L) (Sl &)
SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
Oa4l 9,000 x15& x441x 123 6,480
Ogxz 7,560,000& %14 7,560
02 ss24 5,000 0 5,000
OHIEE 2o JXLDX AIAH 3lH+
=208z 5,000,000& * 14| 5,000
202 04l 30,800 28,700 2,100
01 =W Al 3,800 3,500 300
OgYR =& 04yl 3,800,000 * 14 3,800
02 A04H| 27,000 25,200 1,800
O H0YI 150,000 * 15 * 122 27,000
203 ¥R =&l 11,360 10,960 400
01 28Rl 7,000 6,600 400
QI 223 HR=AH|
7,000,000& * 14! 7,000
02 JRJIE S A 760 760 0
O IHR S| 40,0002~ 19 760
4 FASZERFALI 3,600 3,600 0
ORN2IYR=THI
300,000& * 122/ 3,600
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H & 0o & A H Al M
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g FRAX et Zat
tHelr SH LEE2Y EEREE)
SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
s=H 831,269 781,736 49,533
FRIXX Olgh 25t 271,397 243,358 28,039
S0 Lerigzy 271,397 243,358 28,039
AL & AIEEH FA2te 180,347 146,108 4,239
201 B2l 137,147 136,108 1,039
01 AtR2tc|Hl 2,720 2,720 0
(©)=PNg= 2,000,000 %14 2,000
ORQHFHIAAY 2H
60,0003+ 1O A+ 128 720
02 3524t 134,427 133,388 1,039
OF A2 (FAE )
48,427,000 14 48,427
0s82= & MAl 35,000,000 * 14 35,000
(©tik=a]| 4,000,000 14 4,000
OAl&ZHI= XY 10,000,000& *14] 10,000
Oxrgt sAl2eldl(50)
37,000,000 14! 37,000
401 AlE2HIS 20 10,000 10,000
01 AlZH] 10,000 10,000 0
OFEAM AlIE= el 10,000,000 141 10,000
405 KHaHS =4 3,200 0 3,200
01 MM =SS F S| 3,200 0 3,200
dta) 2 3,200,000 * 14 3,200
SHEALAXA 15,000 14,000 1,000
201 et 3| 15,000 14,000 1,000
03 AL I 15,000 14,000 1,000
(Ol =0 ke 15,000,000& 14 15,000
oty gs 2 106,050 83,250 22,800
301 LBt2NS 106,050 83,250 22,800
078801 - Hdgs=2d=s 104,250 83,250 21,000
ooy JIZ2+e 400,000 15« 12& 72,000
o0y &= 400,000 x15E+23| 12,000
00l 3AEe+<
20,0003 * 158 242 7,200
ogtd=g 50,0002 +51&*13] 2,550
00l Sl 30,0002 158« 122 5,400
ogtd Sl 100,000 51 *13] 5,100
4 IIEt2d = 1,800 0 1,800
OMOIE=HIE 2 3N+
20,0003 *15& 62 1,800
=0 Ard | 360,000 335,000 25,000
Fo=RAY F& 360,000 335,000 25,000
A2 CIANBAY FA 260,000 335,000 275,000
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SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
401 Al&HIL LY 260,000 335,000 AT75,000
01 Al&H 260,000 335,000 AT5,000
OJIAHREI(101-27) Bi4=2 SXISAt
10,000,000 14} 10,000
OL=R2I(215, 24, 430-2) s42 HXIZA
25,000,0008 %144 25,000
O0&HEI(40) 020 EFZA
20,000,0002 14| 20,000
OO0 S MR (M1-2, 484) HI4Z EXIBA
20,000,008 %144 20,000
O0&X22I(170) Hi+2 HXIZAl
15,000,002 14} 15,000
OB=ZXI2I(250) 020t TATA
25,000,0002! 14} 25,000
OLHLI(603, 1652) MY=Z ZHBA
30,000,0002 14} 30,000
OJIAR2I(190) 542 H= SXISA
50,000,000 14! 50,000
OUAHZAIY HH B
20,000,0002 14} 20,000
OMERIZ 2| B A} 45,000,000 *14! 45,000
X2l SZEEBAFLEOI0A) 50,000 0 50,000
401 AlEHIZL 2| 50,000 0 50,000
Al&H| 50,000 0 50,000
OUxI2l S2EFBA
50,000,0002! 14} 50,000
el P HHIZAHFLE G0l 50,000 0 50,000
401 AlEHIZ =Y 50,000 0 50,000
01 Al&Hl 50,000 0 50,000
oz wel 2AH FHIZA
50,000,0002! 14} 50,000
SE 2 A AY|(H=0) 199,872 208,378 N\3,506
ol 2| (H28) 116,024 116,024 0
olz2gH|(HER) 116,024 116,024 0
101 124t 116,024 116,024 0
01 2% 76,064 76,064 0
oOz!224+Y
11,3192 %16 x35A1 2H+ 128 76,064
03 SRE (DK% 224 39,960 39,960 0
OZ22+L(BA0I5R)
1,850 % 150%+300A| 2 =424 * 12 39,960
I=3dI(8=8) 83,848 87.354 A3,506
J|2Z(E=9) 83,848 87,35 13,506
201 e 41,688 43,4% 21,806
PNESE 41,688 43,494 A1,806
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sgd 799,453 693,189 106,264
FOIXEX] D18t 28t 287,584 253,238 34,346
SY ey =y 287,584 253,238 34,346
AL & AIEEH FA2te 134,574 130,228 4,346
201 €e+=gh| 124,574 120,228 4,346
01 Al 22| 50,374 50,008 346
CELIETIEE
120,000& =2 A+ 12 2,880
OFA HAES 47,494,000 & 14! 47,494
02 3324l 74,200 70,200 4,000
OXteg: sXl2el(6th)
45,000,000 14! 45,000
0s82= & HMAl 22,000,000& 14! 22,000
(©Jul=d:] 4,200,000 %14 4,200
OAl&ZHI= XY 3,000,000& *14] 3,000
401 AIZHIZSCHYI 10,000 10,000 0
01 Al&H] 10,000 10,000 0
OF A=K AlIEHI 10,000,000 * 14 10,000
SHHAHAXA 17,000 16,000 1,000
201 et AH| 15,000 14,000 1,000
03 A2 SHI 15,000 14,000 1,000
OHoIEEHEl 15,000,000& * 14! 15,000
206 =4 2,000 2,000 0
01 =4 2,000 2,000 0
OF=H M=Hl 2,000,000 %14 2,000
oty g5 24 133,610 107,010 26,600
301 LBt2dS 133,610 107,010 26,600
07 88 - 01% - tEgs=2as 133,610 107,010 26,600
o0l JlEz=d 400,000 x198 ~12& 91,200
o01& &0= 400,000& x19F »23] 15,200
ool aAEH+<
20,0002 *192| <243 9,120
ogta=+g 50,0002 x75E *13] 3,750
(©lUPSs=tal:] 30,0002 * 198122 6,840
oS4l 100,000& *75& *12] 7,500
MOE=RUHY 288 & 2,400 2,400
301 LEtEES 2,400 2,400
4 IIEt2d= 2,400 2,400
OMOIERHIE 2AFH =&
20,0002 «20E *63] 2,400
SigH Al 3| 320,000 250,000 70,000
FOI=AAY F 320,000 250,000 70,000
A2 CIAHBAY FE 220,000 250,000 230,000
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SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
401 AlZ2HI R0 220,000 250,000 230,000
01 Al&H] 220,000 250,000 30,000
©Q1721(333-2) Dt=Ser2 HH+-2 FHISAt
20,000,000 * 14 20,000
ORXIZel(136-1) =2 ZUISA
10,000,000& 14 10,000
O0izI(262-3) OtAZ HAMNRI|BAL
25,000,000 *14] 25,000
OE2l(261) =2 JHISAH
25,000,000 14 25,000
O=2l(R) s2 LA
20,000,000 *14] 20,000
Octadel(423-1) =2 ZESA
25,000,000 « 14 25,000
OZzle|(655) 52 ZHSA
25,000,000& 14 25,000
O=E2I(406) OtAZ INRIISAL
20,000,000 14 20,000
OAZL2I(141) s=2 ZEXSA
30,000,000 *14] 30,000
OMEBIANZ L AAD DAL Hb|
10,000,000 x14] 10,000
OFA=EH =AU £ iS22 Z2
2t 10,000,000& %14 10,000
ZEe| LRH3 EXISAHFRIE AL 50,000 0 50,000
401 AIZHIZSCHEI 50,000 50,000
Al28l 50,000 50,000
OZ&el L=d=a dXISA
50,000,000& 14! 50,000
el 0hSer2 FHISAHFEIE A 50,000 0 50,000
401 A EHIX 2] 50,000 50,000
1 A&l 50,000 50,000
oZeclz =2tz JHISAM
50,000,000& 14! 50,000
HHY2AZHI(SEH) 191,869 189,951 1,918
olARAY(HLH) 113,139 113,139 0
QIARAH|(HLEH) 113,139 113,139 0
101 Q1A 113,139 113,139 0
01 2 66,556 66,556 0
CESELES
11,3192« 1483541 2+ 122 66,556
03 SRA(RIHA) 222+ 46,583 46,583 0
OZ0IsE =N22+E
1,005 521 x25A| 2t 122 46,583
J=ZHI(SEH) 78,730 76,812 1,918
J=ZHI(E ) 78,730 76,812 1,918
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Al A

250
FRIAXI O1gh Zzt
SU AnsE 2 chol &)
SA - A - BRIEH) - ARAR - BaR e s2
911,592 894,262 17,330
XXl o1er 2t 376,717 305, 198 71,519
S8 LeriE2Y 376,717 305,198 71,519
AL 2 AIEEHl B2 175,227 120,188 55,039
201 B2l 165,227 110,188 55,039
01 AtR2tc|Hl 49,147 48,108 1,039
OFA EAEH 48,427,000 48,427
OF AL 2213Hl E9
60,0003+ 1O A+ 128 720
02 3324l 116,080 62,080 54,000
o03=2= & HAl 2,500,000 12 30,000
(©ftak=d:] 340,000 <122 4,080
OAIZZHl S|
10,000,000 190 A 10,000
Oxrgr sAl2eldl (8t
9,000,000 +8CH 72,000
401 AlE2HIZ R0 10,000 10,000
01 AlZH] 10,000 10,000
OFAAIE =A2el
10,000,0002 14 10,000
SHUHHALAKE 34,000 54,000 20,000
201 el 34,000 54,000 A20,000
01 At22t2|Hl 5,000 20,000 /15,000
oY XN 28 & 82
5,000,000 %14 5,000
03 A= EH| 29,000 34,000 /5,000
oHalsitSial 19,000,000 %14 19,000
o2 HIXIOR g8
10,000,000& *14] 10,000
oty 23 24 167,490 131,010 36,480
301 BtE2d S 167,490 131,010 36,480
07 8& - 01 - et 164,610 131,010 33,600
o0l Jl2s 400,000 x24& x 123 115,200
o0l &0= 400,000 x24E 22| 19,200
00l 3AEH &
20,0003 +24Hx243 11,520
(©lUE==Fl:] 30,0008 x24& 122 8,640
ogtd =< 50,000 +67& 3,350
Oty Sl 100,000 +67H 6,700
4 IIEt2d= 2,880 0 2,880
OMOIERHIE &S =&
20,0002 *24E 62 2,880
g AIZ 3| 287,000 402,000 115,000
Q=AY =2 287,000 402,000 115,000
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SN s
g Asd Al
Bel: FRI=IAMY =2 (CHe:®S)
SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
A2 CIRAHBAY FA 215,000 402,000 /187,000
401 Al HIL 2 0HE 215,000 402,000 A187,000
01 AlZH] 215,000 402,000 187,000
O&uel(51-1) FHSMSA
23,000,000 « 14 23,000
OxA2|(3-30) d&e 2+3A
13,000,000& *14] 13,000
OoFel(79-1) &2 L St=2I FHISA
20,000,000« 14 20,000
0332I(35-18) =2E+=SAt
15,000,000& 14! 15,000
Ozt=c| ZHH FAY
20,000,000& 14! 20,000
O5t=2I(1%) s+2 WHSAt
15,000,000 * 141 15,000
OMBDIATZ Y ARD ZTAL |
30,000,000 14 30,000
O&=2I(360) 2 1A DSt SEXHIAL
24,000,000& *14] 24,000
OZHel(861) SZTEIHSA
25,000,000 =141 25,000
03&2I(68-2) SZEHSA
20,000,000 « 14 20,000
OFAEH =AU £ 0= 8242 2
el 10,000,00081 %14} 10,000
Zatel 0hS0otd OtAZ ERIAHFRIE AL 36,000 0 36,000
401 AlZ2HI R0 36,000 36,000
01 Al&H] 36,000 36,000
O&dte| DSt OtAZE ZHSA
36,000,000 14 36,000
Szel 020t OtAE ZHBAHFLUF &) 36,000 36,000
401 AlZ2HI R0 36,000 36,000
01 Al&H] 36,000 36,000
O=Zcl 0=t OtAZE EESAL
36,000,000 %141 36,000
HY2IZHI(YEH) 247,875 187,064 60,811
AR AH|(AEH) 157,983 109, 164 48,819
olARAY|(AEH) 157,983 100, 164 48,819
101 2124 157,983 100, 164 48,819
01 2= 89,088 71,310 17,778
oxU2LLY
11,6002 16E #40Al 2t~ 12 89,088
03 SRA(RIH) 22 A2+ 68,89 37,854 31,041
OB0IBR AA2I224g
21,0303 *150%+26 A1 2H+7H* 123 68,895
Jl=Z8I(Fe) 89,892 77,900 11,992
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